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Use the information provided to write the vertex form equation of each parabola.

\JUL'Z'%,(— SHI”LO

pEEEEEEEBREL H= o 7{%)9
U=~ \ (x+s) _f

. N

7)

—
9:09 AM
4/21/2016

ST



o]

) Infinite Algebra2 = ||l

Question numbers [ | Show answers

Directions Changing guestions hides answers |I'~'1nfe like mese| | 1up - |

Lines Zoom: D

Use the information provided to write the vertex form equation of each parabola.
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Use the information provided to write the vertex form equation of each parabola.
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Use the information provided to write the vertex form equation of each parabola.
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Use the information provided to write the vertex form equation of each parabola.
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Use the information provided to write the vertex form equation of each parabola.
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Quadratics PRACTICE : Using the vertex form, v=a(x-h)* + k
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Name:

Graph each equation using a method of vour choice (technology, table of values, etc))
Write the point that represents the vertex and v-intercept. Write the equation in standard form.
List the transformations specifically. Ex: stretch of 3 or vertical shift of -5.

1) a)Graphy=3(x+1)*-4

Yeintis (& @I]_)
[T |

c) List the transformations:

d) Re-write v = 3(x + 1)* — 4 in standard form
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a)Graphv=—-(x-2)*+6

N

c) List the transformations:

b) Vertexis (. ).
Yeintis (. ).

d) Re-write vy =— (x — 2)* + 6 in standard form
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2) a)Graphv=—-(x-2)*+ 6

b) Vertex 15; ).
Y-int is

i

c) List the transformations:

d) Re-write vy =—(x — 2)*+ 6 in stan
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3)  a)Graphy=3¢-6

c) List the transformations:

b) Vertexis (. ).

Y-intis (| ). d) Re-write vy = 3%* — 6 in standard form

N I I

Pagel of 5 | 0 werds, 0 characters | Default Style | English (USA) | ml | | | | nomm | - —0) + | 100%
-"T'H 'r__' | | -1-.' i u | —
. S ) FTIREN &5

. . 47 AM
- rn B U | I:I:I
| % 4,/21/2016



e R R | B =
V| Question numbers | Show answers

|| Directions  ~ [¥] Changing questions hides answers | eeeeeeeee se| —_— |1—up |

Li uuuuuuu : D

Sketch the graph of each function. CHANGE TO STANDARD FORM.

1) y=—Ax-4)+1
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